






NSX GHD   TUF   EOK   YDQ

If all the letters are changed to the next 

alphabet in the alphabetical series, then 

how many words have at least one vowel? 

(Assume A comes after Z)

यदि सभी अक्षर ों क वर्णमाला क्रम में अगले वर्ण से

बिल दिया जाए, त दकतने शब् ों में कम से कम एक

स्वर ह गा? (मान लें दक A, Z के बाि आता है)

a. Three

b. One

c. Four

d. Two

e. None of these



If the first and third letter of each word is

interchanged, then all the words are 

arranged in alphabetical order from the left 

then which of the following is the first word 

from the left end?

यदि प्रते्यक शब् का पहला और तीसरा अक्षर है

बिल दिया जाता है, त सभी शब् ों क बाईों ओर से

वर्ाणनुक्रम में व्यवस्थित दकया जाता है, त दनम्न में से

कौन सा शब् बाएों छ र से पहला शब् है?

a. EOK

b. GHD

c. YDQ

d. NXS

e. None of these

NSX GHD   TUF   EOK   YDQ



If all the consonants are changed to the 

previous letter in the alphabetical series 

then how many words have more than one 

vowel?

यदि सभी व्योंजन ों क वर्ाणनुक्रम में दपछले अक्षर से

बिल दिया जाए, त दकतने शब् ों में एक से अदिक

स्वर हैं?

a. 2

b. 4

c. 0

d. 1

e. None of these

NSX GHD   TUF   EOK   YDQ



If the words are arranged in alphabetical 

order from left to right, then the position of 

how many words remain unchanged?

यदि शब् ों क वर्णमाला क्रम में बाएों से िाएों

व्यवस्थित दकया जाता है, त दकतने शब् ों की स्थिदत

अपररवदतणत रहती है?

a. One

b. Four

c. Three

d. Two

e. None of these

NSX GHD   TUF   EOK   YDQ



If the 1st and 3rd letters are interchanged in 

each word, then how many words end with 

a vowel?

यदि प्रते्यक शब् में पहले और तीसरे अक्षर क 

आपस में बिल दिया जाए, त दकतने शब् ों के अोंत

में स्वर ह गा?

a. Three

b. One

c. Four

d. Two

e. None of these

NSX GHD   TUF   EOK   YDQ



EVIL MYTH     DONE     AGED

If the positions of the first and the third 

alphabets of each words are interchanged, 

which of the following word is/are meaningful 

word with the new arrangement? 

यदि प्रते्यक शब् के पहले और तीसरे अक्षर के थिान

आपस में बिल दिए जाते हैं, त दनम्नदलस्ित में से कौन

सा शब् नई व्यवथिा के साि अिणपूर्ण शब् है/हैं?

a) AGED

b) EVIL

c) MYTH

d) DONE

e) Both a and d



If all the letter of the each word are arranged 

in the descending order within the word. How 

many words are starting with vowel?

यदि प्रते्यक शब् के सभी अक्षर ों क शब् के भीतर

अवर ही क्रम में व्यवस्थित दकया जाता है। स्वर से शुरू

ह ने वाले दकतने शब् हैं?

a) Two

b) One

c) Three

d) Four

e) None

EVIL MYTH     DONE     AGED



If all the letters in each of the words is 

changed to previous alphabet in the English 

alphabetical order, how many words having 

one vowel will be formed? 

यदि प्रते्यक शब् के सभी अक्षर ों क अोंगे्रजी वर्ाणनुक्रम

में दपछले वर्ण से बिल दिया जाए, त एक स्वर वाले

दकतने शब् बनेंगे?

a) Two

b) Four

c) One

d) Three

e) None 

EVIL MYTH     DONE     AGED



How many letters are there in the English

alphabetical series between the third letter of 

the word which is second from the right and 

the first letter of the word which is third from 

the left of the given words?

अोंगे्रजी में दकतने अक्षर हैं दिए गए शब् ों के िायें से

िूसरे शब् के तीसरे अक्षर और बायें से तीसरे शब् के

पहले अक्षर के बीच वर्णमाला क्रम में?

a) Eight

b) Two

c) Four

d) Nine

e) Seven

EVIL MYTH     DONE     AGED



If in each of the given words each of the 

consonants is changed to next letter and each 

vowel is changed to previous letter in the 

English alphabetical series, in which of the 

following word will be formed more than

one vowel?

यदि दिए गए प्रते्यक शब् में प्रते्यक व्योंजन क अगले वर्ण

में बिल दिया जाता है और प्रते्यक स्वर क अोंगे्रजी

वर्णमाला श्रोंिला में दपछले वर्ण में बिल दिया जाता है, त 

दनम्नदलस्ित में से दकस शब् एक से अदिक बनेंगे स्वर

?

a) DONE

b) AGED

c) EVIL

d) MYTH

e) Both a and d

EVIL MYTH     DONE     AGED



M $ T R J 1 M * 8 U S P M 7 K I £ M Q Z R L 6 M 9

How many M’s are there preceded by 

number or followed by symbol, but not 

both?

दकतने M के पहले नोंबर या बाि में प्रतीक है, 

लेदकन ि न ों नही ों हैं?

a. 2

b. 3

c. 4

d. 5

e. none of these



If all odd numbers are deleted in the 

series which will be the 20th from right 

end?

यदि श्ोंिला में सभी दवषम सोंख्याओों क हटा

दिया जाए त िायें छ र से 20वाों कौन सा

ह गा?

a. Q

b. T

c. R

d. 4

e. none of these

M $ T R J 1 M * 8 U S P M 7 K I £ M Q Z R L 6 M 9



If first 12 elements are reversed from left end 

and last 12 elements are reversed from right 

end find the 15th from right end?

यदि पहले 12 तत् ों क बाएों छ र से उलट दिया जाता है

और अोंदतम 12 तत् ों क िाएों छ र से उलट दिया जाता

है, त िाएों छ र से 15वाों तत् ज्ञात करें?

a. M

b. $

c. S

d. 7

e. none of these

M $ T R J 1 M * 8 U S P M 7 K I £ M Q Z R L 6 M 9



What is difference between the number 19th 

right end and 14rd from left end after first 12 

elements are reversed from left end and last 

12 elements are reversed from right end 

यदि पहले 12 तत् ों क बाएों छ र से उलट दिया जाता है

और अोंदतम 12 तत् ों क िाएों छ र से उलट दिया जाता

है त िाएों छ र से 19वी ों और बाएों छ र से 14वी ों सोंख्या

के बीच दकतना अोंतर है?

a. 7

b. 1

c. 8

d. 6

e. none of these

M $ T R J 1 M * 8 U S P M 7 K I £ M Q Z R L 6 M 9



What are the elements 18th from right end 

and 8th from left end based on the after 

reversing If first 12 elements are reversed 

from left end and last 12 elements are 

reversed from right end ?

यदि पहले 12 तत् ों क बाएों छ र से उलट दिया जाता है

और अोंदतम 12 तत् ों क िाएों छ र से उलट दिया जाता

है के आिार पर िाएों छ र से 18वें और बाएों छ र से 8वें

तत् कौन से हैं?

a. MJ

b. KM

c. QJ

d. JJ

e. none of these

M $ T R J 1 M * 8 U S P M 7 K I £ M Q Z R L 6 M 9



£ B Q R 9 5 N J L $ A 7 T @ M P U 8 3 I K 4 1 © Z O Y S A

what is the difference between cube of 

the number 8 th from right end and 

square of the number 6th from left 

end?

िाएों छ र से 8वी ों सोंख्या के घन और बाएों छ र

से 6वी ों सोंख्या के वगण के बीच का अोंतर क्या है?

a. 61

b. 1

c. 39

d. 9

e. none of these



What is the sum of place value according to

alphabet series of the element in given series 

7th from left and 13th from right end? (consider 

A=1; b=2; C=3; …so on till Z=26)

(A=1 पर दवचार करें ; b=2; C=3; ... इसी प्रकार आगे

Z=26 तक) के अनुसार िी गई श्ोंिला में तत् ों की वर्ण

श्ोंिला बायें से 7वााँ और िायें छ र से 13वााँ है थिानीय

मान का य ग क्या है? 

a. 35

b. 36

c. 37

d. 38

e. none of these

£ B Q R 9 5 N J L $ A 7 T @ M P U 8 3 I K 4 1 © Z O Y S A



When all numbers followed by 

symbols and then symbols are deleted 

which element is 19th from right end?

जब सभी नोंबर ों के बाि दसोंबल और दिर

दसोंबल हटा दिए जाते हैं त कौन सा एदलमेंट

िायें छ र से 19वाों है?

a. B

b. N

c. J

d. no such element

e. none of these

£ B Q R 9 5 N J L $ A 7 T @ M P U 8 3 I K 4 1 © Z O Y S A



If every 3rd element is deleted , find 

15th from left end?

यदि प्रते्यक तीसरा तत् हटा दिया जाए, त बाएों

छ र से 15वाों तत् ज्ञात करें?

a. K

b. 4

c. 1

d. ©

e. none of these

£ B Q R 9 5 N J L $ A 7 T @ M P U 8 3 I K 4 1 © Z O Y S A



If every 3rd element is deleted then 

Find the elements which is 4th from 

left and 5th from right end?

यदि प्रते्यक तीसरा तत् हटा दिया जाता है, त 

वह तत् ज्ञात करें ज बाएों से चौिा और िाएों

छ र से पाोंचवाों है?

a. 4 ,9

b. A,4

c. 9, 1

d. K,7

e. none of these

£ B Q R 9 5 N J L $ A 7 T @ M P U 8 3 I K 4 1 © Z O Y S A



CLAPS ANGER  STORY  DANCE  SHORT

If all the words are written together without 

any space and then arranged in an 

alphabetical order, which of the following 

letter is sixth to the left of the tenth letter 

from the right end?

यदि सभी शब् ों क दबना दकसी थिान के एक साि

दलिा जाता है और दिर वर्ाणनुक्रम में व्यवस्थित दकया

जाता है, त दनम्नदलस्ित में से कौन सा अक्षर िायें छ र

से िसवें अक्षर के बायें से छठा है?

A) E

B) G

C) H

D) L

E) N



If all the letters within each word are 

arranged in an alphabetical order then 

how many words have two or more 

vowels together?

यदि प्रते्यक शब् के सभी अक्षर ों क वर्ाणनुक्रम

में व्यवस्थित दकया जाता है त दकतने शब् ों में

ि या ि से अदिक स्वर एक साि ह ोंगे?

A) None

B) One

C) Two

D) Three

E) More Than Three

CLAPS ANGER  STORY  DANCE  SHORT



If each consonant of all the words is changed 

to its next letter and each vowel of all the words 

is changed to its previous letter of the English 

alphabetical series, then how many words will 

form meaningful English words? 

यदि सभी शब् ों के प्रते्यक व्योंजन क उसके अगले अक्षर

से बिल दिया जाए और सभी शब् ों के प्रते्यक स्वर क 

अोंगे्रजी वर्णमाला श्रोंिला के उसके दपछले अक्षर से बिल

दिया जाए, त दकतने शब् ों से अोंगे्रजी के अिणपूर्ण शब्

बनेंगे?

A) None

B) One

C) Two

D) Three

E) More Than Three

CLAPS ANGER  STORY  DANCE  SHORT



Which alphabet is 3rd from the right in the

meaningful five-letter word formed from the third, 

second, fourth, fifth and fifth letter of the first, third, 

third, fourth and fifth word from the left respectively 

using each letter only once? If more than one word is 

formed then mark answer as X and no meaningful 

word is formed then mark answer as Z.

बायें से क्रमशः पहले, तीसरे, तीसरे, चौिे और पााँचवें शब् के

तीसरे, िूसरे, चौिे, पााँचवें और पााँचवें अक्षर से प्रते्यक अक्षर का

केवल एक बार प्रय ग करके बनने वाले अिणपूर्ण पााँच अक्षर ों वाले

शब् में िाएाँ से तीसरा वर्ण कौन सा है? यदि एक से अदिक शब्

बनते हैं त उत्तर क X के रूप में दचदित करें और क ई अिणपूर्ण

शब् नही ों बनता है त उत्तर क Z के रूप में दचदित करें।

A) Z

B) X

C) T

D) A

E) E

CLAPS ANGER  STORY  DANCE  SHORT



If the middle letter of each word is 

eliminated then how many words have 

at least one vowel?

यदि प्रते्यक शब् के मध्य वर्ण क हटा दिया

जाए त दकतने शब् ों में कम से कम एक स्वर

ह गा?

A) Two

B) Three

C) None

D) Four

E) More Than Four

CLAPS ANGER  STORY  DANCE  SHORT








